

# Fraction - Addition and Subtraction

Solve each question and write the answer its simplest form.

$$\boxed{1} \quad \frac{2}{4} + \frac{3}{8} =$$

$$\boxed{8} \quad \frac{3}{7} - \frac{1}{7} =$$

$$\boxed{2} \quad \frac{5}{6} + \frac{1}{9} =$$

$$\boxed{9} \quad \frac{4}{12} - \frac{2}{24} =$$

$$\boxed{3} \quad \frac{9}{2} - \frac{5}{2} =$$

$$\boxed{10} \quad \frac{2}{3} + \frac{7}{9} =$$

$$\boxed{4} \quad \frac{7}{8} - \frac{1}{4} =$$

$$\boxed{11} \quad \frac{2}{6} + \frac{7}{18} =$$

$$\boxed{5} \quad \frac{9}{20} + \frac{2}{15} =$$

$$\boxed{12} \quad \frac{3}{6} - \frac{2}{12} =$$

$$\boxed{6} \quad \frac{8}{3} - \frac{1}{2} =$$

$$\boxed{13} \quad \frac{5}{8} + \frac{4}{8} =$$

$$\boxed{7} \quad \frac{7}{6} + \frac{2}{9} =$$

$$\boxed{14} \quad \frac{3}{18} - \frac{1}{9} =$$

# Fraction - Addition and Subtraction

## Answers.

$$\boxed{1} \quad \frac{2}{4} + \frac{3}{8} = \frac{7}{8}$$

$$\boxed{8} \quad \frac{3}{7} - \frac{1}{7} = \frac{2}{7}$$

$$\boxed{2} \quad \frac{5}{6} + \frac{1}{9} = \frac{17}{18}$$

$$\boxed{9} \quad \frac{4}{12} - \frac{2}{24} = \frac{1}{4}$$

$$\boxed{3} \quad \frac{9}{2} - \frac{5}{2} = 2$$

$$\boxed{10} \quad \frac{2}{3} + \frac{7}{9} = 1\frac{4}{9}$$

$$\boxed{4} \quad \frac{7}{8} - \frac{1}{4} = \frac{5}{8}$$

$$\boxed{11} \quad \frac{2}{6} + \frac{7}{18} = \frac{13}{18}$$

$$\boxed{5} \quad \frac{9}{20} + \frac{2}{15} = \frac{7}{12}$$

$$\boxed{12} \quad \frac{3}{6} - \frac{2}{12} = \frac{1}{3}$$

$$\boxed{6} \quad \frac{8}{3} - \frac{1}{2} = 2\frac{1}{6}$$

$$\boxed{13} \quad \frac{5}{8} + \frac{4}{8} = 1\frac{1}{8}$$

$$\boxed{7} \quad \frac{7}{6} + \frac{2}{9} = 1\frac{7}{18}$$

$$\boxed{14} \quad \frac{3}{18} - \frac{1}{9} = \frac{1}{18}$$